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Hypothesis Testing for the Mean (c known)
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Example: The P-value for you test statistic is P = 0.1035 A0D257,05
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HYPOTHESIS TESTS OF u, GIVEN X IS NORMAL AND ¢ IS KNOWN

Using P-values for a z-Test for Mean y
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Finding a P-value
Example 2: Find the P-value for the hypothesis test with the standardized test statistic z. Decide whether to
reject the null hypothesis for the level of significance indicated.

a. Left-tailed test, z=-2.23, & =0.01 b. Right-tailed test, z=1.45, ¢ =0.1

o o
M e sy
Fuz| o R ea‘? Ho

¢. Two-tailed test, z=2.14, ¢ =0.05
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Finding Critical Values and Rejection Regions

Another method to decide whether to reject the null hypothesis is to determine whether the standardized test

statistic falls within a range of values called the re g?i%‘% A RO UV |
g

. A rejection region (or eritical region) of the sampling distribution is the range
. of values for which the null hypothesis is not probable. If a standardized test
statistic falls in this region, then the null hypothesis is rejected. A critical
value 7, separates the rejection region from the nonrejection region.
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Finding Critical Values in the Standard Normal Distribution

L. Specify the level of significance o,

2. Determine whether the test is left-tailed, right-tailed, or two-tailed.

3. Find the critical value(s) zyp. When the hypothesis test is ‘
a. lefr-tailed, find the z-score that corresponds to an area of a. 0 %
b. right-tailed, find the z-score that corresponds to an area of | - a.
¢. two-tailed, find the z-scores that correspond to ja and 1 — Je.

4. Sketch the standard normal distribution. Draw a vertical line at each
critical value and shade the rejection region(s). (See the figures at the left.)
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Example 3: Find the critical value(s) and rejection region(s) for the type of z-test with the level of significance
listed. Include a graph with your answer
a. Left-tailed test, a =0.01

: b. Right-tailed test, a =0.04 &
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c. Two-tailed test, a =0.08
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Example 4: Test the claim about the population mean at the level of significance given. Assume the population
is normally distributed.

a. Claim: x¢=50;2=0.05 oc=1.85 :.?”!’{ 5""@% b~ i, 3¢
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